Underclond and represent veclors
ke and read veclor notation

Draw ared understand vectors mubipked
by o seolar

Draw and nderstand addfion of
weclons

*  Dvdin and Understond oddiion ond
subtraction of vertors
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Mogritude: (e magnitide of aveclor &

Porglet strachit ines that never mest

Direction: the Ine our course something & aong

itz length

Scalar: o sngk rumber 1sed to represent the muliper when working with vectors
Cobern vector: a matrix of one colmn descrbing the movement from a port
Eesukant: the vactor that s the sum of two or more other vectors
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Vectors con oo be wntfen n bold lower
coee 50 g represeris the veclor
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vector & n the opposite drection To b wheh

The mognituce & the length of the wector The magniiee stas tre
(Thes & cakubated vsng Pythogors theorem ond | gome eyen f tre. diection
forming a nghil-anged tnange with asaany res) changes
e . e e . . g ____-______-__-______-______-____-__-____-______-______-__--.I'
| Vectors mukipled by a scabor |
Vechor nctalion DE & arciher /! I
way to represert the vector 1 [ Porale| vectors are. scobw mulliples of each clher ] |
jormng the port [ o the pont £ I| :
(-3 1 b-2 x¢c=2c
DE (—1) /! Miliply € by 2 the becomes b, :
Tre arrow oo ndcaes the | : The. two Ines are porale] |
dvection from port D o port £ :| b |
1 a--1xe=-c :
1 Il ¢ The vectors @ ond € are akn |
2) II a poralel (1 regulwe scobr couses |
| the vector o reverse direction |
_________ _iI :
| b--2 xa=-2a |
Ma-(Yb-( 2 )le-
AB + BC 'I[ﬂ (z)J[" (e ( :
|
s |1 Oddtion and subtraction of vectors |
+ |
= I 5 0 |
FON ) e0 |
= 5 || a |
ac=(2,) S5+ -0y _(5
-3 I -»-7 7)=(2)!
i b a+(-b) (1+ _4.) (_4)|
Look how the addtion compores |: :
to the vector AT : I a+ (_b) |
| =a-b |
_ A =(2 I The resfionl = @ — b becasz the |
- AC= {_3) :l |
Il |
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